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{test program for subset pascal compiler }
{"saishou jijyouhou no keisann}

program pas104 (ocutput);

var n:integer:
max: integer: { const for the number of data }
sx:integer;
sy:integer;
sxy:integer;
sx2:integer;
w:integer;
atinteger;
b:integer:
dx:array {1..8) of integer:
dy:array [1..8] of integer:

begin

max := 8;

dx([1]:=96; dy(1]:=86;

dx[2]:=89; dy (2] :=536;

dx([3):=78; dy[3}:=87;

dx{4]:=68; dy (4] :=86;

dx[5}:=58; dy(5]:=78;

dx[6] :=49; dy(6]:=56;

dx[7]:=39; dy{7):=23;

dx[8]:=32; dy (8] :=24;

n:=1;sx:=0;sy:=0;sxy:=0;sx2:=0;

writeln(’/No. x y Xy xX*27);

while n<=max do begin
writeln(n, - 7, dx[nl., ~“ 7, dyln}, ’,

dx[n]l*dy(n), ~“ ’, dx[n]*dx([n}):
sx:=sx+dx[n]; sy:=sy+dy(n];
sxy:=sxy+dx[n]*dy{n];;writeln{’'sxy = ‘,sxy);
sx2:=sx2+dx[n]*dx[n];writeln(’'sx2 = ’,sx2);

n:=n+1

end;

writeln;

writeln( ’Sigma(x)= ’,8xX);

writeln( ‘Sigma(y)= ’,sY);

writeln( “Sigma(xy)= ‘,sxy):

writeln( ’Sigma(x*2)= ’,sx2);

wi:=max*sx2-sx*sx;

if w*sx2=0 then begin

' writeln( ‘Fitting Unsuccessful.’)

end

else begin
b:=(sx2*sy - sxy*sx) div w;
a:=(sxy-b*sx) div sx2;
writeln;
writeln( ‘a=’,a,”’ b=’,b)

end

end.
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START BEGIN

; begin assign

LEA GR2, VAR

PUSH 0,GR2

LEA GR1,8

POP GR2

ST GR1,0,GR2 ; end assign
: begin assign

LEA GR1,1

LEA GR2,-1,GR1

LEA GRZ,VARY9,GR2

LD GR1,0,GR2
POP GR?2

CALL MULT

LEA GR1,0,GR2
SuUB GR1,0,GR4
MUL GR1,MINUS

POP GRO

POP GR2

ST GR1,0,GR2 ; end assign

; begin if

LEA  GR2,GARE) jw el (G&1)

LD GR1,0,GR2

LEA GRZ,¥AR %sx;_ )

LD GR1,0,GR2

P0P _  GR2 :

CALL  MULT GRI X ey = gan

LEA GR1,0,GR2 GRL— Gr )

PUSH  0,GR1 GRI @i

LEA GR1,0 0 14 X

Cra GR1,0,GR4 O @& o A Y st Fe 52
pOP GRO — G L7 g3 11}—« s o
JNZ F2 S

LEA GRi, 1 Trug:le @ |

TMp B2

LEA GR1,0 FQ’S_L =0 ‘Q_tv,}

CPA GR1,MASK=| True s e >4\ EEFE
INZ ELO Falte 43 ¢ 3.

: begin write )

LEA GR1, 21

LEA GR2,8T11 ; ‘Fitting Unsuccessful.”
CALL WRTSTR

CALL WRILN ; end write

JMP ENO

: begin assign
LEA GR2, VARS8
PUSH 0,GR2

LEA CR2, VAR5
LD GR1,0,GR2Z
PUSH 0,GR?

LEA GR2,VAR3
b GR1,0,GR2
POP GR2

CALL MULT

LEA GR1,0,GR2
PUSE  0,CR1
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ENO

VARO

VAR
VAR?Z
VAR3
VAR4
VARDS
VARG
VAR7
VARS8
VARS
VAR17
STO
ST1
ST2
ST3
ST4
ST5
ST6
ST7
ST8
STS
ST10
ST11
ST12
ST13
MASK
MINUS

LEA GR2,ST12 ; fa=’
CALL WRTSTR
LEA GR2,VAR?
LD GR1,0,GR2
LEA GR2,0,GR1
CALL WRTINT
LEA GR1,5
LEA GR2,S8T13 - b=~
CALL WRTSTR
LEA GRZ, VARS8
LD GR1,0,GR2
LEA GR2,0,GR1
CALL WRTINT
CALL WRTLN ; end write
: end if
EXIT
DS 1
DS 1
DS 1
DS 1
DS 1
DS 1
DS 1
DS 1
DS 1
DS 8
DS 8
DC ‘No. x Yy Xy x*27
DC ’ ’
DC ’ ’
DC ’ ’
DC ’ ’
pC ‘sxy = /
DC ’sx2 = 7
DC /Sigma(x) = ’
DC /Sigma(y)= ’
DC ‘Sigma({xy)= “
DC ’Sigma(x~2)= ~
DC ’Fitting Unsuccessful.’
DC ‘a="’
DC ’ b=+
DC 1
DC -1
END
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program z20(input, ocutput);
var x, y, Result: integer;

procedure gcd(x, y: integer);
var nextY, tmp: 1integer;
P i s S S

begin
if x < y then
begin
tmp = X
X =Yy
y := tmp
end;

if y = 0 then
begin Result := x end
else begin
nextY := x mod vy:
gcd(y, nextY)
end
end;

begin
writeln(/Input x’);
readln(x);
if x >= 0 then begin
writeln(’/Input y’);
readln(y);
if y >= 0 then

begin

gcd({x, y):

writeln(’ng(’, x, ', ', ¥, )
end

else begin
writeln(/Input error’)
end
_end
else begin
writeln(’Input error’)
end
end.
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BEGIN

T3
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; begin assign
LEA GR2,VARZ
PUSH 0,GRr2

LEA GRZ,0

ADD GR2,0,GR3

LD GR1,0,GR2
pPOP GR2
ST GR1,0,GR2
JMP EN1

; begin assign
LEA GR2, 2

ADD GR2,0,GR3
PUSH 0,GR2Z

LEA GR2,0

ADD GRZ2,0,GR3
LD GR1,0,GR2
PUSH 0,GR1

LEA GRZ, 1

ADD GR2,0,GR3

LD GR1,0,GR2
POP GR2

CALL MOD

LEA GR1,0,GR2
POP GR2

ST GR1,0,GR2
; begin gcd

PUSH 0,GR3

LEA GR4,-4,GR4

LEA GR2,1

ADD GRZ2,0,GR3
LD GR1,0,GR2
ST GR1,0,GR4
LEA GR2, 2

ADD GR2,0,GR3
LD GR1,0,GR2
ST GR1,1,GR4
PUSE 0,Gr4

LEA GR3,0,GR4

CALL PRO1

LEA GR4,5,GR3
POP GR3

: end if

RET

; begin write
LEA GR1,7
LEA GR2,STO
CALL WRTSTR
CALL RTLN

; begin read
LEA GR2,VARO
CALL RDINT
CALL RDLN

; begin if
LEA GR2,VAROD
LD GR1,0,GR2

PUSH 0,GR1
LEA GR1,0
CPA CGR1,0,GR4

POP CRO
JZE T3
JPZ F3
LEA GR1,1
JMP B3

010.imd

; end assign

; end assign
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GRY¢ — Gr 3
; call ged

; end gcd

; ‘Input x’

; end write

; end read
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